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Unit 6 - Week 4

Course outline

Assessment 4
How does an NPTEL online

course work? The due date for submitting this assignment has passed. Due on 2020-10-14, 23:59 IST.
As per our records you have not submitted this assignment.

Week 0
1) You are given the following Langevin type stochastic differential equation 1 point
Week 1 dx(t)—f(x)dt=g(x)dW(t). The corresponding Fokker Planck equation for
the probability density will take the form:
Week 2 - ¢ _ | &
i ., ¥ " . 2 F
L—-:—[t[ .'~:_113{?-:.t}:|+— i , [gﬂ %) rr[:-r,n]
Week 3 at LK 20x°
ap(xt) o,
== T{x Nt)|——l g(x)pl xt
ook 4 = L xp(x 0] =e(x)p(xt)]
plxt) &, q 1 :
- - —_——a| X x.1 ——| o X p( Xt
Langewrj Equation Path At {..x[ | }] |:_ f] 3 Ay glxipl }]
Integral {1)

MNone of the above
Langevin Equation Path

Integral (2] Mo, the answer is incorrect.

Score: 0
Langevin & Fokker Planck Accepted Answers:
Equation; CLT Example cp( x.1) Crer
— - X)p(x.t) ]|+
it X |: ) }]

-2
L
a1

i

bdt | e

[g: X)p(xt l]
Easic Machinery of Quantum

Mechanics

2 Given that -:j'|q> = ":"l{f} and
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o Cuantum Mechanical Path g.t) =e"*|q), which of the following holds:
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Week 6 Mo, the answer is incorrect.
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Mo, the answer is incorrect.
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4) 1 point

The expression {g'.1'|¢".1") represents:

The probability of a quantum system in state |.:_,r',f'} to move to slate
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The transition amplitude of a quantum system in state
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The transition amplitude of a quantum system in state |q",?”) to move to state
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Mo, the answer is incorrect.
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The transition amplitude of a quantum system in state |q",i‘") to move to state
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2} The Lagrangian of a particle moving in a potential | "( g ) is given by: 1 point
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6) 1 point

You are given that | p,} is an eigenstate of the momentum operator p for a
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single non-relativistic free particle with the HamiltonianH = ::— The
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expression {p |H ( £.4)|g )evaluates to (Use the inner product{g| p)=¢"*"
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- =1 .1'}:1".1' evaluates to:
a=-x
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} The Lagrangian of a harmonic oscillator is f.=;mq'—5.i.'q'. The =

comesponding Euler Lagamge equation is:
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9 . | 1 poi
} I_ _ (-I.w:' - I]-:‘F'{ x—3)dy is equal to: i
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The probability density function of a Gaussian distribution is p( x )=

1 point

. Its characteristic function is:
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